
 

 

 

ÖRÜNTÜ – 1 : 

5 – 11 – 17 – 23 - …… - …… 
 

 

KURAL: Bir önceki terimin “6” fazlasının 
alınmasıdır. 
 
ÇÖZÜM – 1 : Noktalı yerlere sırasıyla “29” 
ve “35” sayıları gelmelidir. 

 

ÖRÜNTÜ – 2 : 

5 – 10 - ….. – 40 - …… -160 
 

 

KURAL:……………………………………………… 
………………………………………………………… 
 
ÇÖZÜM – 2:………………………………….. 
……………………………………………………….. 

 

ÖRÜNTÜ – 3: 

25 – 40 – 55 - ……. – 85 -…… 
 

 

KURAL:……………………………………………… 
………………………………………………………… 
 
ÇÖZÜM – 3 :………………………………….. 
……………………………………………………….. 

 

ÖRÜNTÜ – 4 

8 – 17 – 35 - ……. – 143 -…… 
 

ÖRÜNTÜ – 4 

8 – 17 – 35 - ……. – 143 -…… 
 

KURAL:……………………………………………… 
………………………………………………………… 
 
ÇÖZÜM – 4 :………………………………….. 
……………………………………………………….. 

KURAL:……………………………………………… 
………………………………………………………… 
 
ÇÖZÜM – 4 :………………………………….. 
……………………………………………………….. 

ÖRÜNTÜ – 1 : 

5 – 11 – 17 – 23 - …… - …… 
 

KURAL: Bir önceki terimin “6” fazlasının 
alınmasıdır. 
 
ÇÖZÜM – 1 : Noktalı yerlere sırasıyla “29” 
ve “35” sayıları gelmelidir. 

ÖRÜNTÜ – 2 : 

5 – 10 - ….. – 40 - …… -160 
 

KURAL:……………………………………………… 
………………………………………………………… 
 
ÇÖZÜM – 2:………………………………….. 
……………………………………………………….. 

ÖRÜNTÜ – 3: 

25 – 40 – 55 - ……. – 85 -…… 
 

KURAL:……………………………………………… 
………………………………………………………… 
 
ÇÖZÜM – 3 :………………………………….. 
……………………………………………………….. 

 


